Final Exam Practice Questions

1st 6 Weeks

[image: image1.png]Recovering the salt from a mixture of salt and
water could best be accomplished by

(1) evaporation

(2) filtration

(3) paper chromatography

(4) density determination




1)

[image: image58.png]Matter is classified as a

(1) substance, only

(2) substance or as a mixture of substances

(3) homogenous mixture, only

(4) homogenous mixture o as a heterogeneous
‘mixture




2)

[image: image59.png]Which type of matter is composed of two or
more elements that are chemically combined in
a fixed proportion?

(1) solution

(2) compound

(3) homogeneous mixture

(4) heterogeneous mixture




3)
[image: image60.png]Which substance represents a compound?

(1) C(s) (3) CO(g)
(2) Cols) (4) Oyg)




4)
[image: image61.png]‘Which of these terms refers to matter that could
be heterogeneous?

(1) element (3) compound

(2) mixture (4) solution




5)
[image: image62.png]Which substance can not be decomposed by a
chemical change?

(1) ammonia (3) propanol

(2) copper (4) water




6)
7)[image: image63.png]Two substances, A and Z, are to be identified.
Substance A can not be broken down by a
chemical change. Substance Z can be broken
down by a chemical change. What can be con-
cluded about these substances?

(1) Both substances are elements.

(2) Both substances are compounds.

(3) Substance A is an element and substance Z
is a compound.

(4) Substance A is a compound and substance Z
is an element.




8)
[image: image2.png]Which statement describes a chemical property
of aluminum?
(1) Aluminum is malleable.
(2) Aluminum reacts with sulfuric acid.
(3) Aluminum conducts an electric current.
)

(4) Aluminum has a density of 2.698 g/em® at
STP.




9)
[image: image3.png]Which statement describes a chemical property
of bromine?

(1) Bromine is soluble in water.

(2) Bromine has a reddish-brown color.

(3) Bromine combines with aluminum to
produce AlBr.

(4) Bromine changes from a liquid to a gas at
332 K and 1 atm.




10)
[image: image4.png]An example of a physical property of an element
is the elements ability to

(1) react with an acid

(2) react with oxygen

(3) form a compound with chlorine

(4) form an aqueous solution




11)
[image: image5.png]A sample of an element is malleable and can
conduct electricity. This element could be

() H @3)s

(2) He (4) Sn




12)
[image: image6.png]Which element is malleable and conducts elec-
tricity?

(1) iron (3) sulfur

(2) iodine (4) phosphorus




2nd 6 Weeks

13)[image: image7.png]On the present Periodic Table of the Elements,
the elements are arranged according to increasing

(1) number of oxidation states
(2) number of neutrons

(3) atomic mass

(4) atomic number




14)
[image: image8.png]Which quantity identifies an element?

(1) atomic number

(2) mass number

(3) total number of neutrons in an atom of the
element

(4) total number of valence electrons in an atom
of the element




15)
[image: image9.png]What is the mass number of a carbon atom that
contains six protons, eight neutrons, and six
electrons?

16 3) 14

@)8 (4) 20




16)
[image: image10.png]What is the total number of neutrons in an atom
of fFe?

(1) 26 (3) 57
(2) 31 (4) 83




17)
[image: image11.png]‘Which isotopic notation represents an atom of
carbon-14?

) §c @) §C

@) §c (4) 4c




18)[image: image12.png]Magnesium and calcium have similar chemical
properties because a magnesium atom and a
calcium atom have the same

(1) atomic number

(2) mass number

(3) total number of electron shells
(4) total number of valence electrons




19)[image: image13.png]Which isotopic notation identifies a metalloid
that is matched with the corresponding number
of protons in each of its atoms?

(1) Mg and 12 protons
(2) Si and 14 protons
(3) ™As and 75 protons
(4) *Br and 80 protons




20)
[image: image14.png]The chemical properties of calcium are most
similar to the chemical properties of

(1) Ar (3) Mg
@K (4) S




21)
[image: image15.png]As atomic number increases within Group 15 on
the Periodic Table, atomic radius

(1) decreases, only

(2) increases, only

(3) decreases, then increases

(4) increases, then decreases




22)
[image: image16.png]Which grouping of circles, when considered in
order from the top to the bottom, best
represents the relative size of the atoms of Li,
Na, K, and Rb, respectively?

5 8 20
O
O
(1)




23)

[image: image17.png]An atom of which element has the largest atomic
radius?

(1) Fe (3) Si

(2) Mg, (4) Zn




24)

[image: image18.png]‘When an atom loses one or more electrons, this
atom becomes a

(1) positive ion with a radius smaller than the
radius of this atom

(2) positive fon with a radius larger than the
radius of this atom

(3) negative ion with a radius smaller than the
radius of this atom

(4) negative ion with a radius larger than the
radius of this atom




25)
[image: image19.png]Which change occurs when a barium atom loses
two electrons?

(1) It becomes a negative ion and its radius
decreases.

(2) It becomes a negative ion and its radius
increases.

(3) It becomes a positive ion and its radius
decreases.

(4) It becomes a positive ion and its radius
increases.




26)
[image: image20.png]Which changes occur as a cadmium atom, Cd,

becomes a cadmium ion, Cd?*?

(1) The Cd atom gains two electrons and its
radius decreases.

(2) The Cd atom gains two electrons and its
radius increases.

(3) The Cd atom loses two electrons and its
radius decreases.

(4) The Cd atom loses two electrons and its
radius increases.




27)[image: image21.png]What can be concluded if an ion of an element
is smaller than an atom of the same element?

(1) The ion is negatively charged because it has
fewer electrons than the atom.

(2) The ion is negatively charged because it has
more electrons than the atom.

(3) The ion is positively charged because it has
fewer electrons than the atom.

(4) The ion is positively charged because it has
more electrons than the atom.




28)
[image: image22.png]The atomic mass of element A is 63.6 atomic
mass units. The only naturally occurring iso-
topes of element A are A-63 and A-65. The per-
cent abundances in a naturally occurring sample
of element A are closest to

(1) 31% A-63 and 69% A-65
(2) 50% A-63 and 50% A-65
(3) 69% A-63 and 31% A-65
(4) 100% A-63 and 0% A-65




29)
[image: image23.png]Which element forms an ionic compound when
it reacts with lithium?

(1) K (3) Kr

(2) Fe (4) Br




30)
[image: image24.png]An ionic compound is formed when there is a
reaction between the elements

(1) strontium and chlorine

(2) hydrogen and chlorine
(3) nitrogen and oxygen
(4) sulfur and oxygen




31)
[image: image25.png]Which set of symbols represents atoms with
valence electrons in the same electron shell?

(1) Ba, Br, Bi (3) 0,8, Te

(2) Sr, Sn, I (4) Mn, Hg, Cu




32)

[image: image26.png]‘What is the total number of valence electrons in
an atom of germanium in the ground state?
18 (3) 14

@2 ) 4




33)
[image: image27.png]‘What is the total number of electrons in a
Cu" ion?

(1) 28 (3) 30

2) 29 (4) 36




34)
[image: image28.png]‘What is the total number of electrons in a Cr®*
ion?

(1) 18 (3) 24

2) 21 (4) 27




35)
[image: image29.png]Which symbol represents a particle that has the
same total number of electrons as $2-?

(1) 0% (3) Se*

(2) si (4) Ar




36)
[image: image30.png]Which compound has both ionic and covalent
bonds?

(1) CO, (3) Nal
(2) CH,0H (4) Na,CO;




37)
[image: image31.png]‘Which statement describes how an atom in the
ground state becomes excited?

(1) The atom absorbs energy, and one or more
electrons move to a higher electron shell.

(2) The atom absorbs energy, and one or more
electrons move to a lower electron shell.

(3) The atom releases energy, and one or more
electrons move to a higher electron shell.

(4) The atom releases energy, and one or more
electrons move to a lower electron shell.




38)

[image: image32.png]What is the correct Lewis electron-dot structure
for the compound magnesium fluoride?





39)

[image: image33.png]‘Which Lewis electron-dot diagram is correct for
co,?

(4)




40)
[image: image34.png]Which formula represents copper(I) oxide?

(1) CuO (3) Cu,0
(2) CuO, (4) Cu,0,




41)
[image: image35.png]What s the chemical formula for iron(III) oxide?
(1) FeO (3) Fe;0
(2) Fe,0, (4) Fe,0,





3rd 6 Weeks

42)

[image: image36.png]Which equation represents a decomposition
reaction?

(1) CaCO4(s) = CaO(s) + CO,(g)

(2) Cu(s) + 2AgNOs(aq) = 2Ag(s) + Cu(NOy)y(aq)
(3) 2Hy(g) + Oy(g) — 2H,0(¢)

(4) KOH(aq) + HCl(aq) > KCl(aq) + Hy0(£)




43)
[image: image37.png]Given the balanced equation representing a
reaction:

4AI(5) + 30,(g) —> 2AL,04(s)

Which type of chemical reaction is represented
by this equation?

(1) double replacement

(2) single replacement

(3) substitution

(4) synthesis




44)
[image: image38.png]Given the reaction:
Mg(s) + 2 AGNO;(aq) > Mg(NO,),(aq) + 2 Ag(s)

‘Which type of reaction is represented?

(1) single replacement ~ (3) synthesis
(2) double replacement (4) decomposition




45)
[image: image39.png]Given the incomplete equation for the combus-
tion of ethane:

92C,H, + 70, - 4CO, + 6
What is the formula of the missing product?

(1) CH;0H (3) H,0
(2) HCOOH (4) H,0,




46)
[image: image40.png]A balanced equation representing a chemical
reaction can be written using

(1) chemical formulas and mass numbers

(2) chemical formulas and coefficients

(3) first ionization energies and mass numbers
(4) first ionization energies and coefficients




47)

[image: image41.png]Given the unbalanced equation:
_Fe,0,+_CO— _Fe+_CO,

When the equation is correctly balanced using
the smallest whole-number coefficients, what is
the coefficient of CO?

a1 (3)

3
@22 (4) 4




48)
[image: image42.png]Half-reactions can be written to represent all

(1) double-replacement reactions
(2) neutralization reactions

(3) fission and fusion reactions

(4) oxidation and reduction reactions




49)

[image: image43.png]‘Which half-reaction equation represents the
reduction of an iron(II) ion?

(1) Fe2* > Fe¥* + e~ (3) Fe® + e~ — Fe2*
(2) Fe?* +2¢ —> Fe  (4) Fe — Fe?* + 2¢~




50)

[image: image44.png]Given the equation:
2Al+3Cu — 2 AP + 3Cu

The reduction half-reaction is

(1) Al > AP* + 3e (3) Al + 3¢~ > AI**

(2) Cu® +2¢ > Cu  (4) Cu® — Cu + 2




51)

[image: image45.png]Given the balanced ionic equation:
Zn(s) + Cu®(aq) - Zn2*(aq) + Culs)

Which equation represents the oxidation half-
reaction?

(1) Zn(s) + 2¢ = Zn**(aq)
(2) Zn(s) > Zn*(aq) + 2¢

(3) Cu**(aq) — Culs) + 2¢
(4) Cu?*(aq) + 2¢~ — Cu(s)




52)

[image: image46.png]‘Which word equation represents a neutralization
reaction?

(1) base + acid — salt + water

(2) base + salt — water + acid

(3) salt + acid — base + water

(4) salt + water — acid + base




53)

[image: image47.png]Which salt is produced when sulfuric acid and
calcium hydroxide react completely?

(1) GaH, (3) Cas

(2) CaO (4) CasSO,




54)

[image: image48.png]‘What are the products of a reaction between
KOH(aq) and HCl(aq)?

(1) H, and KCIO (3) KH and HCIO
(2) H,0 and KCI (4) KOH and HCI




55)
[image: image49.png]Which compound is produced when HCl(aq) is
neutralized by Ca(OH),(aq)?

(1) CaCly (3) HCIO
(2) CaH, (4) HCIO,




56)
[image: image50.png]In which type of reaction do two lighter nuclei
combine to form one heavier nucleus?

(1) combustion (3) nuclear fission
(2) reduction (4) nuclear fusion




57)
[image: image51.png]A nuclear reaction in which two light nuclei
combine to form a more massive nucleus is

called

(1) addition (3) fusion
(2) fission (4) substitution




58)

[image: image52.png]Which nuclear emission has the greatest mass?

(1) alpha particle (3) gamma ray
(2) beta particle (4) positron




59)
[image: image53.png]Which two nuclides are isotopes of the same
element?

(1) ®Naand®Ne  (3) ¥K and 2K
(2) 8K and £Ca (4) 4Cand N




60)
[image: image54.png]Given the balanced equation representing a
nuclear reaction:

U + In - '2Ba + $Kr + 3X + energy

Which particle is represented by X?
1) fe (3) iHe
@ = [OF




61)
[image: image55.png]In the reaction ZNp — 2%Pu + X, what does X
represent?

(1) a neutron (3) an alpha particle
(2) a proton (4) a beta particle




62)
[image: image56.png]Given the nuclear equation:
19Ne - X + 9F
Which particle s represented by X?

(1) alpha (3) neutron
(2) beta (4) positron




63)
[image: image57.png]Given the nuclear equation:
H + X — 8L + iHe
The particle represented by X is
(1) 5L (3) '9Be
(2) 9Be (4) 19





